FOLE

Florida Department of pate In 8/29/18

Law Enforcement

INSTRUMENT PROCESSING SHEET

Agency Manatee County SO

s/N _80-006634

DI Completion Date 9[7{19 Eﬁéhip de/u OH/D Qcwi OEE

Intake Performed By SQC Quality Checks Performed By _ P Flow Calibration Performed By
@ Annual d Breath Tube Screen Flow Column #
U Registration Replace External O-Rings U 5L/min = 17mm
O Return from CMI / EE Instrument Set Up Verified ?? 3 15L/min = 53mm
T R-Value K Q 30L/min - 103mm
@ Case @ Handle Flow Verification (L/s O R-Value
@ Kevboard @ By Gas Ehelf Flow Column # __ AT €10H Q Post Calibration Verification (L/s)
Y ry Gas She _
4 Feet 4 Breath Tube S B . ,uj (.139-.169) | Flow Column #
@ Ports @ Screws Tight 36 mm ‘ !gj (.156 - .190) 32 mm (.139-.169)
53 mm 50 (.228 - .278) 36 mm (.156 - .190)
Other Equipment/ Accessories: 103 mm 535 (.447 - 547) | 53 mm (.228 - .278)
O Power cord O Printer Cable ? Barometric Pressure Check 103 mm (.447 - .547)
i4 Static Bag 0 12v DC Cable auge ID # B loln -
Notes: Stability Checks Maintenance Performed By
Simulator | Serial # Lot #/Exp g Battery Replacement
- Dry Gas Regulator Replacement
0.050 5Di02f C‘%O—i;‘")gjlg g Br(;ath Tube Replacement
Final Release Date = = Other
FDLE 0.080 D _i04 ‘:’l 2_}119 ;57 Temperature Checks Performed Byf
e (@ Lab Temp °C Q3.3
B:290 SDIni <0170 lC’ External Digital Therm. ID#: BCDII_-'}fE
SEP 07 2018 o IO 7 o §'34°C +-.2 Serial #: 101
Alcohol Testing 0080DGs | N/A G050 ®34°C +-2 Serial #: %
Progism 2-2e -20 §34°C+.2 Serial #: 8
Calibration Adjustment Performed By __ O Department Inspection Performed By _ %>
Barometric Pressure Gauge _1() |5 ID# _J 3437 Barometric Pressure ID# __ A¥lole D
Simulator | Serial Number | Lot Number | Expiration Gauge ___|O]Lg Instrument ___ 1 O LS
0.000 (2834 [ n/A N/A Mouth Alcohol Solution Lot # ___ 201{g -C
0,040 SDI0Z 2 74 10 12— (019 || Acetone Stock Solution Lot # JoIS-A
0.100 5D29u4d | 13010 -2t -20 Simulator Serial Number :
- i 2% 20 || Fo.000 GUY+HY
' 5D\Oz_6 " ‘_%H'o 10-9-19 Interferent YTIVEN
0.300 5D102¢i 'LF‘S o Y-2-320 0.050 SDIOIY
0.080 DGS | N/A 1810 446560 §-5-(9 0.080 SDRAU A
H Post Calibration Adjustment Stability Checks 0.200 G 07 )1
Simulator Serial Number | Lot Number Expirati?n ! Attachments
0.050 SDLIOIR |20N071D | 71-45-19 B Form 41 X Post-Stability Checks X2
0.080 SD3 2| 201101E |- 25-19 ] | | M stability checks %2 X |"Q Flow Calibration
0.200 G015 120 071¢] 1-24-19 | || B calibration Certificate | O Form 40
0.080 DGS | N/A AG3o5 10\ Q-2 -20 ﬁ Calibration Adjustment X2 | O Other
Notes/Suggested Service: Pefopmed. Cal instrument Complies with Chapter 11D-8, FAC
ady ustnep+t v bring values O Instrument Does Not Comply with Chapter 11D-8, FAC
C lD)S e tn NOWMUupals %}f" K Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use
‘ﬁ Conduct an Agency Inspection Before Evidentiary Use
Tech Reviéw / Date Admin Review / Dite

FDLE/ATP Form 48 January 2018
Issuing Authority: Alcohol Testing Program

PRINTED COPIES UNCONTROLLED
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Florida Department of Law Enforcement
Alcohol Testing Program

DEPARTMENT INSPECTION REPORT - INTOXILYZER 8000

Agency: MANATEE COUNTY SO Serial Number: 80-006634
Time of Inspection: 13:17 Date of Inspection: 09/07/2018 Software: 8100.27
Check or Test YES NO Check or Test YES NO
Diagnostic Check Date and/or Time Adjusted
(Pre-Inspection): OK Yes No
Minimum Sample Volume Barometric Pressure Sensor

Check: OK Yes Check: OK Yes

Alcohol Free Subject Mouth Alcohol Test:

Test: 0.000 Yes Slope Not Met Yes
Interferent Detect Test: Diagnostic Check

Interferent Detect Yes (Post-Inspection): OK Yes

Alcohol Free 0.05g/210L Test 0.08g/210L Test 0.20g/210L Test 0.08 g/210L
Test (g/210L) (g/210L) (g/210L) Dry Gas Std Test
(g/210L) Lot#:201707D Lot#:201707E Lot#:201707C (g/210L)

Exp: 07/25/2019 Exp: 07/25/2019 Exp: 07/24/2019 Lot#:AG805701
Exp: 02/26/2020

0.000 0.050 0.080 0.200 0.078

0.000 0.051 0081 0.202 0.078

0.000 0.051 0.082 0.202 0.078

0.000 0.051 0.082 0.202 0.078

0.000 0.051 0.082 0.201 0.078

0.000 0.051 0.082 0.200 0.078

0.000 0.051 0.081 0.201 0.078

0.000 0.051 0.081 0.200 0.078

0.000 0.051 0.082 02061, 0.079

0.000 0.050 0.082 0,200 0.07s8
| standard Deviations | 0.0004 0.0007 0.0008 0.0004 N

Average Standard Deviation of 0.05, 0.08 and 0.20 g/210L Tests: 0.0005 Number of Simulators Used: 5

Remarks:

The above instrument complies ( X ) does not comply ( ) with Chapter 11D-8, FAC.
4

I certify that I perferm this i ectj?f:%ﬁfhccor ance with the provisions of Chapter 11D-8, FAC.
v Y
j ; ¥y / A SHAYLA D PLATT

(S Signature and Printed Name

*\\\
e % OQ

FDLE/ATP Form 41 —Revised August 2005
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MANATEE COUNTY S0

Intoxilyzer - Rlcohol Analyzer

Mode! 8000 SN 80-006634
09/07/2018 08:43:56

Auto Calibration
Max Pouwer Res Uzlue = 83
Auto Range Res Ualue = 44

xoex AUTO CAL FRIL

ENTERED

viuue Fo

. T&S-
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